Chapter 2 Review of Basic Algebra
Exercise 2.1
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Answer Key for Contemporary Business Mathematics with Canadian Applications, Eleventh Edition
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Exercise 2.2
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29. 69.792598
30. 18.045553
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Exercise 2.3
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Answer Key for Contemporary Business Mathematics with Canadian Applications, Eleventh Edition

10. 16.546852
11. 2.158925
12. 0.589664
13.1630.176673
14. 12 151.73813
15. 1139.915716
16. 1855.967995
17. 5000.00

18. 4391.497547
19. 0.029998
20. 0.019999
21. 0.04

22. 0.01

Exercise 2.4

A. 1. 9=log, 512

2. 7=log, 2187
3. -3 =log, L
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4. -5=log,, 0.00001
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6. —3x=In12

2. 3*4:i
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4,
5,
6.

7.133435
6.825303
10.156367

Business Math News Box

il

$49 600 000 (C$149.6 million)
C$133.9 x 10°

C$2678 x 10° million

13.26% per year

Exercise 2.5
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7. x=21
8. x=8
9

x=333.3

10. x = all real numbers

Exercise 2.6
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Exercise 2.7
1. $28.28.
2. $864.
3. $35.00.
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Answer Key for Contemporary Business Mathematics with Canadian Applications, Eleventh Edition

4. $18.90.
5. 192.

6. $11.36.
7. $670.

8. 65cm.
9. $89.00.
10. $23500.
11. 1300.
12. 18.

13. 20 units.

14. 20 dimes, 56 nickels, and 16 quarters.

15. 30 $12 tickets,
100 $ 8 tickets,
and 21 $15 tickets.

16. 6 medium pizzas,
17 large pizzas,

and 13 small pizzas.
17. $46 780.
18. —6.75
19. 104 on the first shift

52 on the second shift

40 on the third shift
20. 1080 options for each senior manager

21. There are a total of 436 players in the organization.
Review Exercise
1. (a) 2x-=Ty
(b) 1.97x
(c) 6a-7
(d) x+3y
(e) 9a° —4b—4c
(f) —x* +3x+1
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2. (a) —15a
(b) 28mx
(c) =7
(d) =3ab
(e) 36xy
(f) 24abc
(g) —12x+20y+4
(h) x—2x" —x
(i) —-6x+4
(G) 7a-4
(k) 26a-29
() 14ax—-2a*>+10a
(m) 2m* —Tm+5
(n) 3a’ -84’ —5a+6
(0) —14x*> +34x+36
(p) —26am” +26am+37a
3. (a) 47

1
(®) 65

(©) 0.16
(d) 200
(e) $645.44
(f) 2500
4. (a) —243
16
(b) 31
()1
1
(d) -3
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(f) 1
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(2) —19 683
(h) 1024
(1) 59049
(]) m12
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16

(m) 1.03"°
(m) (1+0)"

)

(0) 1.05

(p) 16x*y*

81

a’p’
1

(1+0)"

5. (a) 0.96
(b) 1.012126
(c) 1.07
(d) 0.968442
(e) 1.098612
(f) —2.995732
(g) 109.428635
(h) 7.087540
(i) 9.871647
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6. (a) x=-7
(b) x=880
(c) x=-21
(d) x=-18
(e) x=3
(f) x=-11
(g) x=250
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9.

(h) x=40
(1) x=-1
G x=7

(k) x=39
1) x=56
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(c) x=-3

__1
(@ x=-13

() x=7

1
(F) x=—

1
(2 x——z

(@) r=—t

-P
r

(b) ¢ =

(c) r=

NS

(d) PMT = [ﬂ]
1+p) -1

138.

10. $63 350.

11. $117.
12. $44 500.

13. heat $814

power $1056
water $341

14. $37 500

15. 35 minutes.
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Answer Key for Contemporary Business Mathematics with Canadian Applications, Eleventh Edition

16. superlight poles is 27; ordinary poles is 45.
17. 164.
18. $82.50 per month.

19. Crown Company’s stake in Baldwin Industries is worth $12 Million.

Self-Test
1. (a) —2-8x
(b) 2x-9
(c) —16a-7
(d) —6x> +6x+12
2. (a) -7

2
(b) 185

(c) 0.192
(d) 0.4
(e) 1474
(f) 1450

3. (a) -8

4
(b) 9

(©) 1
(d) 2187

9
(e) 16
() —x"
4. (a) 1.030465
(b) 23.114772
() 0.024693

(d) 0.898612

(e) 5.755972
(f) 7.270789

5. (@) n=6
(b) n=5
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6. (a) x=-36

(b) x=9
(c) x=20
(d) x=-3
(e) x=3
(f) x=35
(g) x=25
(h) x=2

1
(@) P—;

S-P
b) d="""—
(b) S

8. $240.

9. 4600 square meters.

10. 55.
11. $4500.

Challenge Problems
1.

The clerk must reduce the total by $0.11x.

2. 3200 km.

3.

(a) FALSE
b) TRU
¢) TRU
d) FALS
e) FALS

i!mm

Case Study

1.
2.
3.

$24 211
$24 000
$5529
$13 566

o P o

3.75% of salary
6.25% of salary
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